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e Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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59T Yo &1 I Uk JTaFT H &7 39T 2 1

(iv) Io7 G&IT 5- 6 37K 17- 18 THIHE 97 8, 579 F9% & 3 375 & |
Jedh &1 I GIHTIT: 60 Isq] & 37fer 787 17 =iy |

(v) T G T7T-9 3R 19-21 Y TLHRIHE J97 8, 579 5390% & 4 375 & |
I HT IR GIHI=IT: 70 Jed] @ 371 a1 5147 =1fzy |

(i) ¥ &I 10-12 3K 22 - 24 I F0cAS 597 &, 577 9% & 6 3%
g | I9% H7 I/ GIEI=Id: 100 Jisg] & 37fes 787 5147 T1150 |

(vii) I GITT TIT TIICHF &7 TNET T IIEYT FT &1 T Joq T & Jaild
&7 2w s =Frfae |

General Instructions :
(1) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii)) Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 5§ - 6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Question Nos. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
(MICROECONOMICS)
1. Uied AmTd % hig & IS T | 1
AYAT
R @ & g g 3ere AT | 1
State any two examples of variable cost.
OR

State any two examples of fixed cost.

2.  gfe diwid W o, X-311 % GHiaT 8, o oq <l B |
(Tt fashed =1 ==A hifs) 1
(%) T I & SR
(@) Hwra Amm & 3fees
(M A
() Hi9a AW 9 %A

If the Marginal Revenue curve is parallel to the X-axis, the price of the
commodity would be . (Choose the correct alternative)

(a)  Equal to Marginal Revenue
(b)  More than Marginal Revenue
(c) Zero

(d)  Less than Marginal Revenue

o [N e

3. Tfafed & @ wH-a1 FaiiEa AnTd =1 T 3| 3 ? (T8 fasheq 1 ==

ALY 1

(%) Al =1 YA

(@) = O 6 ard

() wIfTe i IS W

(") 3Ted H ¥ hI5 T8l

 58/5/3 | 3 P.T.O.




Which of the following is an example of implicit cost ? (Choose the
correct alternative)

(a) Wages paid

(b)  Cost of Raw material

(c) Interest on owner’s capital
(d)  None of the above

4. foumu foa ° X Y 3R X,Y, 09 ¢ faftm awamafa T, iR Ty ¥ 3cameq
ST 56 & | A 3R Ay U T, 3R Ty THAEY B IrEafdeh Icqe 7 |
P, 3R Py U T 3TN T, AHITEY § GYTfad 3cq1ed & |

a9q Y
Yol
P
\\@\\2
Y]_ o

" X
0 X, sz

A1 wmerEfuE #§ dwifad Seared § afed fgmemE g weffa
fopan 1 R 7 | (T foepew 1 =A hifse)

(%) Py¥E Ay

(@) A¥ A

(M) Ag¥ A

() P8Py

AT
Ife dia e ara (MOC) &, O ITeT AT 96 (PPC)

He-feig % 39 B | (kw6 gfd i)
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In the given figure X;Y; and X9Y9 are Production Possibility Curves in
two different time periods Ty and Ty respectively. A; and Ay represent
actual outputs in Ty and Ty periods respectively. P; and P9 are potential
outputs in T¢ and Ty periods respectively.

Good Y

Good X

0)

The change in potential production over the two periods would be

represented by a shift from . (Choose the correct alternative)
(a) PytoAy
(b) AjtoAy
(c) A2 to Al
(d PytoPy
OR

A Production Possibility Curve (PPC) would be convex to the origin, if
Marginal Opportunity Cost (MOC) is . (Fill up the blank)

5. AT W RN TAT STAR G STIEE Sl STTLURONST ! AT | 3
Explain the concepts of individual demand schedule and market demand
schedule.

6. ‘“Ifc gErEAl & Jicas YA T B, O AT o e hl THEN 39T T8l

B |7 I qehl o SMUR W e T THIT A7 T I | 3
arerat

TehNIcHeh AT o 3TTeeieh N & 7 i Ik IgTevn afga waa o

== HIT | 3
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“Problem of resource allocation would not arise, if resources do not have
alternative uses.” Defend or refute the statement with valid arguments.
OR

Discuss briefly the meaning of positive economics and normative
economics, with suitable examples.

7. Wi 61 HWd A 1 IO (-) 3 T T 7 | T 10 1 hMd W, Tk IqHTET
forell ag T 100 IHISAT HA Bt 7 | AlG I&g hl A 50% IR T, @1 98
&g <l Toma1 3ohTsal Sh UM 2

The coefficient of price elasticity of demand is given as (-) 3. At a price of

T 10, a consumer buys 100 units of the commodity. How many units of
the commodity will she buy if the price falls by 50% ?

8. WM WY T U1 STl STeR § Teh g X o AT 3R qd a5 @
Qq = 2200 — 3p, AT

Qg = 1800 + 2p

& X I T hiFd a0 T HEAT o Hodl i 3Tehei hig |
T

T a%] HT AR G § 7 | 9%g sl 7§ TRt oft afteda & fomn, awg i
qfd # 1 B S R

o 1 YT X §U, a%g I Fgad hiFd q91 Her AT W, U e aitEd
% yura i ==t H |

Suppose the demand and supply curves of a commodity X, in a perfectly

competitive market are given as :

Qq = 2200 — 3p, and

Qg = 1800 + 2p
Estimate the values of equilibrium price and equilibrium quantity of the
commodity X.

OR
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The market for a commodity is in equilibrium. The supply of the
commodity decreases, without any corresponding change in the demand
for the commodity.

Discuss, using diagram, the impact of the given change on the

equilibrium price and equilibrium quantity of the commodity.

Fie :  [HElIGT F97 Fa gIREndd whgniaal & g, yeT aeqr 8 (fwey) &
TIH T E -

Note : The following question is for the Visually Impaired Candidates only, in
lieu of Q. No. 8 (Alternative) :

Teh 9%] 1 IR §qad | & | 9&q i 7 § fopell oft aftada & fomr, aeg i

gfd & s B A 7

a%] ! Fged hmd qd dgad #E R), U MU afEd & gwE ==t
HIT | 4
The market for a commodity is in equilibrium. The supply of the

commodity decreases, without any corresponding change in the demand
for the commodity.

Discuss the impact of the given change on the equilibrium price and
equilibrium quantity of the commodity.

9.  3ICUHIA HHIG AN gk ‘U-3TThR T 1 il & 2 4
YT
qfcd’ MR g s AET § AR T T | 4

Why is the short-run marginal cost curve ‘U-shaped’ ?
OR
Distinguish between ‘Supply’ and ‘Quantity Supplied’.
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10. (%) “qui gfcEmf SR § T ®H hHd TREH Bl 8, TEih THITHR
VR | BH hiAd Haies gt & |7 39ged SRV |fed QU T hed H

THT 372ET G T |
(@) fosht @va @ = areqd 8 2
(a)  “A firm under perfect competition is a price taker whereas under

monopoly is a price maker.” Defend or refute the statement with
valid reasons.

(b)  What is meant by selling cost ?

11. T I oh Fed AAhA hl FT 37 g ? 3Hh AN & o fohral Gl BRI hi
89 ¥ == i |

What is meant by diminishing returns to a factor ? Discuss briefly, any

two reasons behind its operation.

12. (%) SHRME g5k 6 Ygurdr w1 gl 7 ?

(@) U foassfic Iuwiadl haa af aegeli, avg X 3R a&g Y 1 IUHM
HA B | TEGRA T HHd HHAM: T 20 AT T 10§ | 3T HaA Hifgeh
IR T 2007 | QTS FIAT o MER W Fferfaa gt & 3w A

(i)  3Heh! wole W1 o1 e fafan |
(i)  IYMIRRT <hl oI TET shl Yaurar fAfau |

(iii) I 98 T9 Trqel o1, I Y W @9 w1 e Ht R,
@ I8 a%] Y I fehal gehTeaT A T Hehdl B 2

HAAAT

gu-Ha IgAfar fem <k ==t hifv |
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What is the slope of an Indifference curve ?

A rational consumer is consuming only two goods, Good X and
Good Y. The prices of the goods are ¥ 20 and ¥ 10 respectively.

Her total money income is ¥ 200. Answer the following questions,

using the given information :
) State her Budget line equation.
(i1)  State the slope of the Budget line of the consumer.

(iii) If she decides to spend her entire income on Good Y, how

many units of Good Y can she buy ?

OR

Discuss the law of equi-marginal utility.

WUE ¥
(wmfte srefvme)

SECTION B
(MACROECONOMICS)

13.  9fhes SHTE o= Bidt 8 2

What are primary deposits ?

14. 3¢ T 9¥ | Topell ofoqaeel H HGhR i FIHTNG JIfeaqal IATHT =9 &
0 8, @ a9 aisfe sheetl @ | (R T <61 gfd <hifsm)

If in an economy, the Estimated Receipts of the government during a

year are lesser than the Estimated Expenditure, the budget would be

called

58/5/3

budget. (Fill up the blank)
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15. 3fe Juifae mfda e/u@ 20% &, O ggT Ok HT e B |
(F&! oo 1 ==F HINT)
(®) 2
(@) 3
(m 5
(|7) 4
If legal reserve ratio is 20%, the value of money multiplier would
be . (Choose the correct alternative)
(a) 2
(b) 3
(c) 5
d 4

16. TR s # fefifea & @ sH-E s dSfima wifta g 2
(F) AT
(@) = ifeq
(m X fafiee (fSht o) * v geaes &3 % 3uRA (PSU) @ IR
=t forsht
(") @St & o 3UshH (PSU) & T AT

T
T AT o Tohedl qf 3TN T 3@ T |

Which of the following is a capital receipt in the Government Budget ?
(a)  Income tax
(b)  Interest receipt

(c) Sale of shares of a Public Sector Undertaking (PSU) to X Limited
(Private Company).

(d)  Dividends from a Public Sector Undertaking (PSU)

OR

State any two examples of non-tax revenue.
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1'37.“‘ T (e HEATCHS IGELT 1 TANT HLd U, HHG g=d Jgra aon e
UM o S g hl &Y H == HIT | 3
T
fFafafad o 319 samEy . 3
(i) 9 U9

(i)  3f<Es SUST

Discuss briefly the relationship between marginal propensity to save

and investment multiplier, using a hypothetical numerical example.

OR
State the meaning of the following :
) Full employment

(ii))  Involuntary unemployment

18. THMEISH dF 1 d9UH <hifNlE, Ife JeARId (ex-ante) THY AT, JTeITRId
(ex-ante)WIﬁﬁW@ | 3

Describe the adjustment mechanism if ex-ante Aggregate Demand is
lesser than ex-ante Aggregate Supply.

19. wdrsu for FAfalRad woa @87 8 31991 7o7d | 3799 I 1 HRUT Tigd gqA

HIT | 2,2

(%) YT AT i TITHATST T T H T Teh IHTS ITHT BT 2 |

(@) v« wR fafia <o @t for U =0 # 9qa FE § 189%d 8l 7,
TorEs =1 | gig Bt 7 |
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State whether the following statements are true or false. Support your

answer with reason.
(a) Taxation is an effective tool to reduce the inequalities of income.

(b)  Revenue deficit increases when government fails to recover loans

forwarded to different nations.

20. faewt 9 yrd Fow gem oy qun o fafa § ot wse hifs | 4
AYAT
‘T-fgep fafma’ o= g 8 2 SUgea 3eTe g == Shifse | 4

Distinguish between net factor income from abroad and net exports.
OR

What are ‘non-monetary exchanges’ ? Discuss with suitable example.

21. (%) wWesY TFE THR ‘S U H WM Hd FC Had S (oREl
Jreferaee § qgT myfd Fafa ot dehar 7 |

(@) Wrel g @ aedd g ? 3, 1

(a) Explain how using “Bank Rate” the Central Bank can regulate

money supply in an economy.

(b)  What is meant by ‘Repo Rate’ ?

22. (%) <&l TUET i TEET | FA1 A 7 ? 3HH S9E b (A€ G GiSSRIvT hl
g o ==t Hifey |

(@) “ISfima awgel’ w1 aRwTNa I | 5, 1

AT
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feu Mo frfafaga st 9, TaTed ey qur Taa fEa & qeal @

MU ST
%.9. [EELU - 1;,3;3 #)
@) |7l a9 2,400
i) | TS T 4,200
(i) | Teret frta ?
Gv) | forcet & wred g |red e 200
(v) | St =ief ot fomior 1,100
i) | -FEnfsa i ffda em 400
(vii) | Toft srferm Swwi =0 2,000
(viii) | g FTTIH =T 150
(ix) | S=TE SAfeRy )
(x) | BRI A 3T 1,000
(xi) | FEor Ioft bt 3w 100
(xii) | ™ 500
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(a)  What is meant by the problem of double counting ? Discuss briefly
the two approaches to avoid this problem.

(b)  Define ‘Capital goods’.

OR
Given the following data, find the values of ‘Operating Surplus’ and ‘Net
Exports’ :
S. No. Particulars : Amount
(in < crores)
(i) | Wages and Salaries 2,400
(11) National Income 4,200
(iii) | Net Exports ?
(iv) | Net Factor Income from Abroad 200
(v) | Gross Domestic Capital Formation 1,100
(vi) | Mixed Income of Self-Employed 400
(vii) | Private Final Consumption Expenditure 2,000
(viii) | Net Indirect Taxes 150
(ix) | Operating Surplus ?
(x) | Government Final Consumption Expenditure 1,000
(xi) | Consumption of Fixed Capital 100
(xii) | Profits 500
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23. Ueh AIIITEAT ST d=d Hod G T 7 -
S=()50+010Y.
If¢ I (ex-ante) a9 T 450 e &, @1 F=AfaRaa 6t o Hife - 6
(i)  STTawdT | 7 1 Fge il |

(i) T 3,000 U i AfdieEd T Id HH & A e fdied
e |

The saving function of an economy is given as :

S=(-)50+010Y.
If the ex-ante Investments are ¥ 450 crores, calculate the following :
(1) Equilibrium level of income in the economy.

(i1)  Additional investments which will be needed to gain an additional

income level of T 3,000 crores.

24, Tr=fafaa & 319 fafgu . 2,2 2
G)  for faesf fafma =
(i) IR ARy

(i) HESE T

State the meaning of the following :
) Fixed Foreign Exchange Rate
(i1)  Trade Surplus

(iii) Accommodating Transactions
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